ACME=
CRYOGENICS
pppppppp w | a JITZ) company

-~

W
k BAYONET SELL SHEET

m AIR FORCE BAYONET
B DUAL SEAL BAYONET

-~ - B CRYENCO STYLE

ol | )\ e B LINDE HQK
\ K | B CLOSE TOLERANCE

R LINDE TYPE

Copyright © 2022 Acme Cryogenics  www.acmecryo.com



2” FEMALE AIR FORCE BAYONET PARTS LIST
(LIQUID HYDROGEN SERVICE)

ITEM# QTY PART# DESCRIPTION

1 1 C-02277 2” FEMALE BAYONET (st.stl.)

2 1 B-02280 NUT STANDARD (BRASS)

3 1 A-02419 RETAINING RING (cad. stl.)

4 1 B-02379 DUST COVER (ALUM)

5 1 C-08124 REPLACEABLE NUT ASSEMBLY (BRASS)
B 3/16"

67/8"

!
o
i

®

ACME=
CRYOGENICS

PART ofF opw |a JII[Z) company

Copyright © 2022 Acme Cryogenics ~ www.acmecryo.com

www.acmecryo.com or 800.422.2790
webinquires@acmecryo.com

DELIVERING | WHAT'S NEXT



2” MALE AIR FORCE BAYONET PARTS LIST
(LIQUID HYDROGEN SERVICE)

ITEM# QTY PART#H# DESCRIPTION

1 1 C-02258 2” MALE BAYONET (st.stl.)

2 1 B-02264 TIP SEAL (TEFLON)

3 1 ORING-2-344V ORING (VITON)

4 1 B-02263 NUT STANDARD (BRASS)

5 1 A-02420 RETAINING RING (cad. stl.)

6 1 C-02266 DUST COVER (ALUM)

7 1 C-08207 REPLACEABLE NUT ASSEMBLY (BRASS)
8" REF.

1/2" 7 1/16" ———————
1§ l—
=VIS

1‘}"7&

41/8
312

— 2.510"—

. <

¢ DIA.

C-08207
@ REPLACEABLE AIR FORCE MALE NUT ASSEMBLY

www.acmecryo.com or 800.422.2790

AC M E% webinquires@acmecryo.com

CRYOGENICS

PART ofF opw |a JIIZ) company

Copyright © 2022 Acme Cryogenics ~ www.acmecryo.com DELIVERING | WHAT'S NEXT




1” FEMALE ACME (DUAL SEAL) BAYONET PARTS LIST
(LIQUID OXYGEN, NITROGEN, & ARGON)

ITEM# QTY PART# DESCRIPTION

1 1 C-03028 1” FEMALE ACME BAYONET

2 1 C-03032 LOOSE FLANGE (BRASS)

3
Z) I
2.88
4.75 e s = 131
L |
% | e 1 L.o6s
/SUBER INSULATION 083
11.06 3" m' 3u

www.acmecryo.com or 800.422.2790

AC M E% webinquires@acmecryo.com

CRYOGENICS

PART ofF opw |a JIIZ) company

Copyright © 2022 Acme Cryogenics ~ www.acmecryo.com DELIVERING | WHAT'S NEXT



11/2” FEMALE ACME (DUAL SEAL) BAYONET PARTS LIST
(LIQUID OXYGEN, NITROGEN, & ARGON)

ITEM# QTY _ PART# DESCRIPTION
1 1 C-03039JKTA 11/2” FEMALE ACME BAYONET
2 1 C-03043 LOOSE FLANGE (BRASS)
Z 1
r3.50
5.50 — — 1.90
=t )
% * ‘ ".065
78 = .
SUPER IN -083
= , SULATION
11.47 3" MIN. 3"

ACME=
CRYOGENICS

PART ofF opw |a JIIZ) company

Copyright © 2022 Acme Cryogenics ~ www.acmecryo.com

www.acmecryo.com or 800.422.2790
webinquires@acmecryo.com

DELIVERING | WHAT'S NEXT



2” FEMALE ACME (DUAL SEAL) BAYONET PARTS LIST
(LIQUID OXYGEN, NITROGEN, & ARGON)

ACME=
CRYOGENICS

PART ofF opw |a JIIZ) company

Copyright © 2022 Acme Cryogenics ~ www.acmecryo.com

ITEM# QTY PART# DESCRIPTION
1 1 C-01795JKTA 2” FEMALE ACME BAYONET
2 1 C-01796 LOOSE FLANGE (BRASS)
7\ f
450
6.63 — s S— 2.38
1
% * | L.065
. /.SUPER INSULATION 083
12.06 3" MIN. 3"

www.acmecryo.com or 800.422.2790

webinquires@acmecryo.com

DELIVERING | WHAT'S NEXT



3” FEMALE ACME (DUAL SEAL) BAYONET PARTS LIST
(LIQUID OXYGEN, NITROGEN, & ARGON)

ITEM# QTY PARTH# DESCRIPTION
1 1 C-03360JKTA 3” FEMALE ACME BAYONET
2 1 C-03364 LOOSE FLANGE (BRASS)
%) f
I 5.56
7.75 —_— —_— 3.50
i |
% * | L.083
7
, /SUPER INSULATION 109
Zzzz
12.06 3" MIN. 3"

ACME=
CRYOGENICS

PART ofF opw |a JIIZ) company

Copyright © 2022 Acme Cryogenics ~ www.acmecryo.com

www.acmecryo.com or 800.422.2790
webinquires@acmecryo.com

DELIVERING | WHAT'S NEXT



1” MALE ACME (DUAL SEAL) BAYONET PARTS LIST

(LIQUID OXYGEN, NITROGEN, & ARGON)

ITEM# QTY PART# DESCRIPTION

1 1 C-03288JKTA 1” MALE ACME BAYONET

2 1 ORING-2-230S SILICON ORING

3 1 A-03280 TIP SEAL

4 1 A-03288-KIT LOOSE PARTS KIT

4a 6 BOL-SS-3/8-0200 BOLT, 3/8” 16UNC X 2” LG.
4b 6 NUT-BR-3/8-16 NUT, 3/8” 16UNC-2b (BRASS)
4c 6 WAS-SS-3/8-LOCK  WASHER, LOCK, 3/8” (St. Stl.)

P

BT
IN
| Nl
2.88
475 | 131— S— _—— —
065 | / &
0831 | Jsuren N
INSULATION
=3
3" 3" MIN. —| 10.68

www.acmecryo.com or 800.422.2790

AC M E% webinquires@acmecryo.com

CRYOGENICS

PART ofF opw |a JIIZ) company

Copyright © 2022 Acme Cryogenics

www.acmecryo.com DELIVERING | WHAT'S NEXT



11/2” MALE ACME (DUAL SEAL) BAYONET PARTS LIST

(LIQUID OXYGEN, NITROGEN, & ARGON)

ITEM# QTY PART# DESCRIPTION

1 1 C-03287JKTA 11/2” MALE ACME BAYONET
2 1 ORING-2-235S SILICON ORING

3 1 A-03282 TIP SEAL

4 1 A-03287-KIT LOOSE PARTS KIT

4a 6 BOL-SS-3/8-0200 BOLT, 3/8” 16UNC X 2” LG.
4b 6 NUT-BR-3/8-16 NUT, 3/8” 16UNC-2b (BRASS)
4c 6 WAS-SS-3/8-LOCK  WASHER, LOCK, 3/8” (St. Stl.)

4a

e

AN

3150 N

’ f
550 | 1.90 +—— — — j i
.065"' | / :
0837 surem U\@
=3
3" 3" MIN. — 11.06 |
= www.acmecryo.com or 800.422.2790
AC M E§ webinquires@acmecryo.com

CRYOGENICS

PART ofF opw |a JIIZ) company

Copyright © 2022 Acme Cryogenics ~ www.acmecryo.com DELIVERING | WHAT'S NEXT



2” MALE ACME (DUAL SEAL) BAYONET PARTS LIST

(LIQUID OXYGEN, NITROGEN, & ARGON)

ITEM# QTY PART# DESCRIPTION

1 1 C-01794JKTA 2” MALE ACME BAYONET

2 1 ORING-2-245S SILICON ORING

3 1 A-03133 TIP SEAL

4 1 A-01794-KIT LOOSE PARTS KIT

4a 6 BOL-SS-7/16-204 BOLT, 7/16” 14UNC X 2 1/4” LG.
4b 6 NUT-BR-7/16-14 NUT, 7/16” 14UNC-2b (BRASS)
4c 6 WAS-SS-7/16-LOCK WASHER, LOCK, 7/16” (St. Stl.)

-

E A,
_
l fi
4.50 T
6.63 2.38£——-—— S —_— U
l VERE S SRpTSIeS AE
.065J i // %
'083_} slNUl;EUlIlATION -
3" 3" MIN. — 11.68

www.acmecryo.com or 800.422.2790

AC M E% webinquires@acmecryo.com

CRYOGENICS

PART ofF opw |a JIIZ) company

Copyright © 2022 Acme Cryogenics ~ www.acmecryo.com DELIVERING | WHAT'S NEXT



3” MALE ACME (DUAL SEAL) BAYONET PARTS LIST

(LIQUID OXYGEN, NITROGEN, & ARGON)

ITEM# QTY PART#H# DESCRIPTION

1 1 C-03355JKTA 3” MALE ACME BAYONET

2 1 ORING-2-254S SILICON ORING

3 1 A-03359 TIP SEAL

4 1 A-03365-KIT LOOSE PARTS KIT

4a 8 BOL-SS-7/16-204 BOLT, 7/16” 14UNC X 2 1/4” LG.
4b 8 NUT-BR-7/16-14 NUT, 7/16” 14UNC-2b (BRASS)
4c 8 WAS-SS-7/16-LOK WASHER, LOCK, 7/16” (St. Stl.)

-

)
2 S
| Nl
5.56 T 2o
775 | 3850 40— _
1L _ I
.083 | , / X
‘109J /slg?S%Il*ATION
=3
3 3" MIN. —} 11.50

www.acmecryo.com or 800.422.2790

AC M E% webinquires@acmecryo.com

CRYOGENICS

PART ofF opw |a JIIZ) company

Copyright © 2022 Acme Cryogenics ~ www.acmecryo.com DELIVERING | WHAT'S NEXT



2” FEMALE CRYENCO STYLE BAYONET PARTS LIST
(LIQUID HELIUM SERVICE)

ITEM# QTY PART# DESCRIPTION

1 1 C-02362 2” FEMALE CRYENCO BAYONET
2 1 ORING-2-335S SILICON ORING

3 1 B-02455 2“ FEMALE DUST COVER (ALUM)
4 1 C-02365 V-BAND CLAMP ASSEMBLY

15 3/16"

®

—~— 4" DJA. —

ACME=

CRYOGENICS

PART ofF opw |a JIIZ) company

Copyright © 2022 Acme Cryogenics

www.acmecryo.com

www.acmecryo.com or 800.422.2790
webinquires@acmecryo.com

DELIVERING | WHAT'S NEXT



2” MALE CRYENCO STYLE BAYONET PARTS LIST
(LIQUID HELIUM SERVICE)

ITEM# QTY PART#H# DESCRIPTION
1 1 C-02386 2” MAALE CRYENCO BAYONET
2 1 ORING-2-335S SILICON ORING
3 1 B-02451 TIP SEAL
4 1 B-02495 2“ MALE DUST COVER (ALUlVI)
5 1 C-02365 V-BAND CLAMP ASSEMBLY
17 9/16"
i 14 15/16"
é }\.\ ﬂ !la
Q — ——— r— —— o
> 1
15 3/4"

A o = - - - - ME

-

[

AC M E% www.acmecryo.com or 800.422.2790

CRYOGENICS webinquires@acmecryo.com

PART ofF opw |a JIIZ) company

Copyright © 2022 Acme Cryogenics ~ www.acmecryo.com DELIVERING | WHAT'S NEXT



2” FEMALE LINDE HQK BAYONET PARTS LIST
(LIQUID HYDROGEN SERVICE)

ITEM# QTyY PART#H# DESCRIPTION
1 1 C-01888 2” FEMALE LINDE HQK BAYONET (ST. STL.)
2 1 ORING-2-234S SILICONE O-RING
3 1 B-01956 2” FEMALE DUST COVER (ST. STL.)
4 1 C-02075 V-BAND CLAMP ASSEMBLY
91/8"
8 1/16" {
et |
o] _I l _
£ _ _ _ o 8
| ™ 17

] ' 8 1/4" REF.

414"
N -

i
I/L\ ?
_ www.acmecryo.com or 800.422.2790
AC M E§ webinquires@acmecryo.com

CRYOGENICS

PART ofF opw |a JIIZ) company

Copyright © 2022 Acme Cryogenics ~ www.acmecryo.com DELIVERING | WHAT'S NEXT



2” MALE LINDE HQK BAYONET PARTS LIST
(LIQUID HYDROGEN SERVICE)

ITEM# QTY PART# DESCRIPTION
1 1 C-01857 2” MALE LINDE HQK BAYONET (ST. STL.)
2 1 B-01860 TIP SEAL
3 1 C-01899 DUST COVER (ALUM)
(SHOWN WITH OPTIONAL
HANDLE)
8 25/32"
6 13/16" /@
@ /\4
f i ] 2 1/2" G (closed)
* 8 3 _
I ] 1 ©,
= ENERGIZER
9 172" REF.
7 5/8"

7
=
l

" =

www.acmecryo.com or 800.422.2790

AC M E% webinquires@acmecryo.com

CRYOGENICS

PART ofF opw |a JIIZ) company

Copyright © 2022 Acme Cryogenics ~ www.acmecryo.com DELIVERING | WHAT'S NEXT



1” FEMALE ACME (CLOSE TOLERANCE) BAYONET PARTS LIST

(LIQUID OXYGEN, NITROGEN, ARGON, & HELIUM)

ITEM# QTY PART# DESCRIPTION
1 1 C-04018 1” FEMALE ACME BAYONET
2 1 C-01177 LOOSE FLANGE (st. stl.)
2 .
4.75 e O — ' 1;31 |

Loes

12.75

14.25

www.acmecryo.com or 800.422.2790

AC M E% webinquires@acmecryo.com

CRYOGENICS

PART ofF opw |a JIIZ) company
Copyright © 2022 Acme Cryogenics ~ www.acmecryo.com DELIVERING | WHAT'S NEXT



1” MALE ACME (CLOSE TOLERANCE) BAYONET PARTS LIST

(LIQUID OXYGEN, NITROGEN, ARGON, & HELIUM)

ITEM# QTY PART# DESCRIPTION
1 1 C-04019 1” MALE ACME BAYONET
2 1 ORING-2-230S SILICON ORING
3 1 A-04019-KIT LOOSE PARTS KIT
3a 8 BOL-SS-3/8-0204 BOLT, 3/8” 16UNC X 2 1/4” LG.
3b 8 NUT-IMP-3/8-16 NUT, 3/8” 16UNC-2b (impreglon)
3c 8 WAS-SS-3/8-LOCK  WASHER, LOCK, 3/8” (St. Stl.)
2.87 | ) i
1?1 == — =
43/4 ]
065 Nya
.083 Y| 4super
INSULATION
2u 3!' (MIN') 11 7/8"

ACME=

CRYOGENICS

PART ofF opw |a JIIZ) company

Copyright © 2022 Acme Cryogenics

www.acmecryo.com or 800.422.2790
webinquires@acmecryo.com

www.acmecryo.com DELIVERING | WHAT'S NEXT



1 1/2” FEMALE ACME (CLOSE TOLERANCE) BAYONET PARTS LIST

(LIQUID OXYGEN, NITROGEN, ARGON, & HELIUM)

ITEM# QTY PART#H# DESCRIPTION
1 1 C-04264 11/2” FEMALE ACME BAYONET
2 1 C-01323 LOOSE FLANGE (st. stl.)

|
s50 3,50 L ‘ lf "
L
% | 065

N7 083

ZzZzZ

3u ]

12.75
14.25

www.acmecryo.com or 800.422.2790

AC M E% webinquires@acmecryo.com

CRYOGENICS

PART ofF opw |a JIIZ) company
Copyright © 2022 Acme Cryogenics ~ www.acmecryo.com DELIVERING | WHAT'S NEXT



11/2” MALE ACME (CLOSE TOLERANCE) BAYONET PARTS LIST

(LIQUID OXYGEN, NITROGEN, ARGON, & HELIUM)

ITEM# QTY PART# DESCRIPTION

1 1 C-04265 11/2” MALE ACME BAYONET

2 1 ORING-2-235S SILICON ORING

3 1 A-04265-KIT LOOSE PARTS KIT

3a 8 BOL-SS-3/8-0204 BOLT, 3/8” 16UNC X 2 1/4” LG.
3b 8 NUT-IMP-3/8-16 NUT, 3/8” 16UNC-2b (impreglon)
3c 8 WAS-SS-3/8-LOCK WASHER, LOCK, 3/8” (St. Stl.)

= (aa

.083 LI VZ SUPER
INSULATION

2" 3" (MIN.) 11.87

L

www.acmecryo.com or 800.422.2790

AC M E% webinquires@acmecryo.com

CRYOGENICS

PART ofF opw |a JIIZ) company

Copyright © 2022 Acme Cryogenics ~ www.acmecryo.com DELIVERING | WHAT'S NEXT



1/2” FEMALE LINDE TYPE BAYONET PARTS LIST
(LIQUID NITROGEN & HELIUM SERVICE)

ITEM# QTY PART# DESCRIPTION “p”
1 1 C-04465 1/2” X 3” LONG (ST. STL.) 3.42”
2 1 C-03532 1/2” X 6” LONG (ST. STL.) 6.38”
3 1 C-05578 1/2” X 9” LONG (ST. STL.) 8.82”
4 1 C-03618 1/2” X 15” LONG (ST. STL.) 14.82”
5 1 A-03805 DUST COVER (PLASTIC)
| A f.
15/16 el
1.26 W.X 3/32"
DEEP SOCKET —1/8
—_— - .51 .75
= q
}

DRILL THRU, 1/16"
DIJA. HOLE

ACME=

CRYOGENICS

PART ofF opw |a JIIZ) company

Copyright © 2022 Acme Cryogenics ~ www.acmecryo.com

www.acmecryo.com or 800.422.2790
webinquires@acmecryo.com

DELIVERING | WHAT'S NEXT



1/2” MALE LINDE TYPE BAYONET PARTS LIST
(LIQUID NITROGEN & HELIUM SERVICE)

ITEM# QTY PARTH# DESCRIPTION “A”
1 1 C-04463 1/2” X 3” LONG (ST. STL.) 3.42”
1 1 C-03552 1/2” X 6” LONG (ST. STL.) 6.17”
1 1 C-05577 1/2” X 9” LONG (ST. STL.) 8.97”
1 1 C-06166 1/2” X 15” LONG (ST. STL.) 14.96”
2 1 ORING-2-212V O-RING (VITON)
3 1 RING-RETAINER RETAINING RING (CAD. STL.)
g
4 1 B-06163 1/2” X 3” DUST COVER (PLASTIC) 3.63”
4 1 B-05665 1/2” X 6” DUST COVER (PLASTIC) 6.38”
4 1 B-06164 1/2” X 9” DUST COVER (PLASTIC) 9.18”
4 1 B-06165 1/2” X 15” DUST COVER (PLASTIC) 15.18”
A (REF.)
@ 3& |
gy 42 3 mr st s
b -

2
z
z

www.acmecryo.com or 800.422.2790

AC M E% webinquires@acmecryo.com

CRYOGENICS

PART ofF opw |a JII[Z) company

Copyright © 2022 Acme Cryogenics ~ www.acmecryo.com DELIVERING | WHAT'S NEXT



ACME=
CRYOGENICS

PART oF opw |a JIJ) company

800.422.2790
webinquires@acmecryo.com

Order online https://parts.acmecryo.com/

Copyright © 2022 Acme Cryogenics ~ www.acmecryo.com DELIVERING | WHAT'S NEXT



